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01| T & H B 505 566 667 1,233
002 | 77 A H 6954 752 809 1,561
003| k£ & H Hfr 358 355 342 697
004 | % ko i) 988 1,203 1,093 2,296
005| XK R Hr 736 902 903 1,805
006 | & & F H 1,361 1,690 1,582 3,272
007 | # F  H 169 266 213 479
08| 5 4 H 815 966 1,053 2,019
009 | K & i) 932 726 715 1,441
010 | R H ) 987 1,325 1,417 2,742
011 | £ B F B 663 823 875 1,698
012 | & & B 873 1,150 1,277 2,427
013 | 8h H ) 552 750 843 1,593
04| & & H 878 1,116 1,139 2,255
015| ¢ B Hr 119 146 171 317
061 | XEREHET—TH 36 38 25 63
062 | XFEHETZTH 204 177 192 369
063 | XEHET=TH 16 37 61 98
064 | XEHEMTH 100 104 129 233
071 | 4A%HAHE—TH 34 28 44 72
072 | £HABIZTH 272 272 229 501
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081 | M BT — T H 0 0 0 0
082 | FA T — T H 32 666 42 708
083 | A B = T H 168 167 199 366
091 | lis#Hr— T H 83 81 105 186
092 | BT _—TH 92 248 410 658
101 | FMET—TH 105 100 107 207
111 | FHHEET—TH 123 132 134 266
112 | FSHBEIZTH 86 71 68 139
113 | FHFHET=TH 115 113 126 239
114 | FHHEETETH 133 136 152 288
115 | FTEFHEATH 154 111 160 271
116 | FHHEETATH 147 138 138 276
117 | FEHETETH 124 141 159 300
118 | FHHEET/NTH 141 143 158 301
121 | EBFHI—TH 78 68 77 145
122 | EBFHAI_TH o1 65 62 127
123 | EBFHI=TH 81 79 92 171
124 | EBFHAIMNTH 72 70 53 123
125 | ERFHTATH 104 114 116 230
126 | EBFHAIANTH 154 130 130 260
127 | EBFHETH 141 94 156 250

a8 & 13,036 16,259 16,423 32,682




